Case Study for ITA Unit 4 Outcome 1
The Organisation

Grabbit and Runn is a small accounting firm that provides financial services to their customers. The company is run by two partners: Mr Will Grabbit and Ms Robyn Runn. Ima Goode is employed by the company as a secretary.

Mr Grabbit specialises in the share market but sometimes has difficulties in persuading clients to go with his recommendations. He has a collection of values of selected shares over several years but these appear as an array of figures with no trends evident. He feels that if he could graph the movement of shares over a period of time, he could show the desirability of investing in shares at the ‘right time’. At the moment he is relying on his own charm (“Would I lie to you”) which is not always convincing. If he is successful in persuading clients to accept his advice, the company charges the following rates

· $29.95 on sales of less than $30000

· 1% of the value of all sales over $30000

At the moment Mr Grabbit has to find his calculator and then estimate the total cost of each purchase. Even then he can give an estimate, as the exact purchase price cannot be determined until the shares are purchased. Then Mr Grabbit has to recalculate the costs. He writes the figures on a prepared sheet that is then handed to Ima Goode for typing and posting to the client.  He would like a system that enables him to show customers a number of possible scenarios so that they are less skeptical when presented with the final bill.

Ms Runn is the taxation specialist, she has to determine the taxable income for each client and then calculate the amount of tax payable.  There is a fairly complex procedure to work out the amount of tax payable. Ms Runn draws up a table showing all of a client's sources of income. She then adds these up on a calculator and calls the total Gross Income. She then draws up another table showing all legitimate deductions. These are added up and called Total Deductions. Total deductions are subtracted from gross income and the answer is called Taxable Income. A complex formula is then used to calculate Tax on Income. Finally rebates and Tax Credits are subtracted to give Tax payable (or Refund Due). Ms Runn then checks all the figures. If she detects a mistake she must then repeat some or all of the calculations. A standard sheet is used to show all this information. The completed sheet is then handed to Ima Goode for typing. This takes time and the partners believe that it costs them business as other tax agents are promising rapid returns.  

The secretary Ima Goode is interested in computers and believes that she can simplify office practices (and make her job easier) by using an Excel workbook with separate sheets for

· showing trends

· calculating cost of share purchases

· determining tax payable or refund due

Your task is to develop an appropriate workbook and show that each sheet works with a range of figures. You should at least have real data from ten companies to show trends in share prices over a period of time. This data is provided on the last page.

A simplified taxation return is sufficient with the following information

· Total income from wages and salaries

· Bank interest

· Other investment income

· Work related deductions

· Other deductions

· Tax credits

Most Australian taxpayers pay a Medicare levy of 1.5% of taxable income and income tax at the following rates.
	Taxable income
	Tax on this income

	$0 – $6,000
	Nil

	$6,001 – $25,000
	15c for each $1 over $6,000

	$25,001 – $75,000
	$2,850 plus 30c for each $1 over $25,000

	$75,001 – $150,000
	$17,850 plus 40c for each $1 over $75,000

	Over $150,000 
	$47,850 plus 45c for each $1 over $150,000
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